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=0.019* exp(£ 1.96xI (478x19073/195513+33x6374/64073))
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O B ¢
OR = (478x6374)/(33x19073) = 4.841
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3.937 < OR =6.986 < 12.397
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1.181 < RRDMH =1.248 < 1.319 0.178 < RDDMH = 0.186 < 0.194
3.692 < ORMH =4.867 < 6.417

0.456 < PARPMH = 0.593 < 0.697 0.083 < PARPDMH =0.110 < 0.137
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R1=a/n1RO=b/N0 < ==

RRmH= RRmH RRwmH =} WmHi R 3 Wwhi Roi=3 ainoi/Ti 3 bi ny/T;
Cl=RRwmH x exp(x 1.96xI (V(logRRwmH))
Ll #£8

V(logRRwmH) =3 (mai noi nai/(Ti)20 ai bi / Ti) (3 ainoi/ Ti)(3 bi ni/ Ti)
Cl=RRwH x exp(x 1.96xI (V(IogRRwH)) = 2.728 x exp(z 0.312) = 3.728/1.996
RDwmH= RDwmH RDwmH =3 WwmHi (Riid Roi) 3 WwHi

=3 (ainoi 8 bi nu)/Ti 3 noi N/Ti
Cl=RDwmH x exp(x 1.96xI (V(IogRDwH))
V(logRRwmH) =3 Wwni (ai bi / n1i 2(n1i-1) + ci di / noi 2(Noi-1)) 3 Wwni
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Cl =RDwhn x exp(t 1.96xI (V(IogRDwh)) = 0.350 x exp(+ 0.071) = 0.376/0.326

ORwMH =3 WwHi (@ / nu)(di / nai)
= (awd1/ T1 +axd2/ T2) / (c1dd/T1 + c2d2/ T2)

= 4.867

/ — V|\/|H|8

3 Wwni (ci / nai)(bi / noi) =3 (aidi /Ti) /3 (cidi/ Ti)

Cl = ORwmH x exp(zx 1.96xI (V(IogORwH))

V(logORMH)

= [(a1d1)(a1+d1)/T12 +(azd2)(a2+d2)/T22]/2(a1d1/T1 + @2d2/T2) 2
+ [(a1d1) (b1t c1)/T12+ (bac1) (At d1)/T12 +(azdz2) (b2t C2)/T22+ (b2C2) (a2t d2)/T22
[ 2[((a1d1 /T1+ @2d2 /T2)( bics [T1+ bacz /T2)]

+[(b1b1)(b1+c1)/T12 +(b2bz)(b2+c2)/T22]/2(b1Cy/T1 + b2Ca/T2) 2

Cl = ORwmH xexp(x 1.96xI (V(logORwmH)) = 4.867 x exp(x 0.276) = 6.417/3.692
SMR(Standard Motality Ratio)

8 — SMR(Standard Motality Ratio: 2 E=q3 =fFe° 7
Yo Y%
Ho ' 327 :al 259 :cl 586: n11
H. ' 15: b1 83:d1 98: n01
342: m11 342: m10 684 :T1
Yot Y%
Ho ' 151 :a2 124 :c2 275: nl12
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SRR(Standard Risk Ratio) = (r 1 ai/nu + r2 az/n12)/ (r1 ba/nos + r2 bz/noz)

-i:)KJ_L

< o=

rt=noi rz2=Ne<s <=8

SRR = (98 x 327/586 + 63 x 151/275)/ (98 x 15/98 + 63 x 18/63)
= (98 x 327/586 + 63 x 151/275)/ (15 + 18)

=2.705

Ay ke

Cl=SRR xexp(x 1.96xI (V(logSRR))
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Rothman, K.J. Modern Epidemiology, Little, Brown and Co. Boston

V(og SRR) = 3 (riai/nu (ri-ria/ny)/ny)/(riai/nu)?
+3 (ri bi / noi (ri-ri bi /noi)/noi )/ (ribi/ne)?
=(norai/ Nu (o1 - Norax/ Nu)/ nu
+No2 a2/ N12 (No2 - No2 a2/ N12) / n12) / (No2 a2/ N12)2
+ (noz b1/ Noz (Noz - Noz b1/ no1) / no1
+no2 b1/ not (Noz2 - No2 b1/ No1) / noz) / (noz2 b1/ no1)?
=(nozai/ Nu (No1-nNozax/ Nu)/nu
+noz2 a2/ N12 (No2 - No2 a2/ N12) / n12) / (No2 a2/ N12)?
+ (b1 (no1 - by) / no1 + b2 (no2 8 bz) / noz) / (b2)?
= (98 x 327 / 586 X (98 - 98 x 327 / 586) / 586
+63x 151/ 275 x (63 - 63 x 151 / 275) / 275) / (63 x 18/ 275)2
+(15x (98 - 15)/ 98 + 18 x (63 8 18) / 63) / (18)2

I o= 8

Cl=SRR x exp(x 1.96xl (V(logSRR))
=2.705 x exp(x 0.306)
=3.675/1.922

1.922 < SRR=2.705 < 3.675

/ o=8 1 oo |
SDR =[(r1ai/nu + rz2 az/ni2) - (r1 ba/nor + r2 ba/no2)] / (r1 + r2)

F= < rM=noy r2=Ngp<s <=8
SDR = [(no1 ai1/n11 + Noz az2/n12) - (b1 + b2)] / (No1 + noz) = 0.350
Cl =SDR x exp(£ 1.96x| (V(logSDR))
V(logSDR) =(1/3 ri)3 [(riai/ni(ri-ria/nu)/ni)/(ria/nu)

+ (ri bi / noi (ri - ri bi / noi) / nai) / (ri bi / noi)]

Cl = SDR x exp(+ 1.96xI (V(IogSDR)) = 0.350 x exp(+ 0.071) = 0.376/0.326
0.326 < SDR=0.350 < 0.376
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77 77 154 :T
1.544 < RR = 3.484 < 7.863 0.353 < RD =0.414 < 0.485

(1.173 <RRD =1.385 < 1.634) (0.231 < RDD = 0.260 < 0.292)
2.486 < OR =6.923 < 19.282
0.304 < PARP =0.667 < 0.847 (0.080 < PARPD =0.161 < 0.241)
«fi . HD> 1.62806
«fi J. HD> 0.08335
«fi . HD> 1.000
| «fi J. HD 5.1198%
«fi 1. H> 0.91665

/ «fi 1. H> 8.335%
50 Yo Y%t
H. ! 220 :a 180 :c 400 :nl
H. ! 15 :b 55 :d 70 :n0
235 235 470 T
1.625 < RR = 2.567 < 4.055 0.301 < RD = 0.336 < 0.374)

(1.130 < RRD=1.222<1.322)  (0.160 < RDD =0.170 < 0.181)
2.450 < OR = 4.481 < 8.198
0.347 <PARP =0.571<0.722  (0.061 < PARPD = 0.100 < 0.139)
«fi J. HD 15637
«fi J. HD 003444
«fi J. H> 1.000
| «fi j. HD 2.7782%
«fi J. HD 0.95656
/ «fi J. HD  4.344%

60 Yo Y%t




H. ' 186 :a 151 :c 337 :nl
H. ' 13:b 48 :d 61 :n0
199 199 398 T
1.584 < RR =2.590 < 4.235 0.302 < RD =0.339 <0.380
(1.130 < RRD=1.232<1.343)  (0.164 < RDD = 0.176 < 0.188)
2.376 < OR =4.548 < 8.706
0.331 < PARP =0.574 < 0.733 (0.061 < PARPD =0.104 < 0.146)
«fij. HD 15726
«fi J. HD 0.0453
«fi J. H> 1000
[ «fi J. HD 2.8815%
«fi J. HD 09547
/ «fi ). HD 4.5316%
MH
1.987 <RRMH = 2.709 < 3.692 0.326 < RDMH =0.350 < 0.376
1.182 <RRDMH =1.248<1.319 0.178 <RDDMH =0.186 <0.194
3.676 < ORMH =4.841 <6.377
0.454 < PARP =0.590 < 0.694 0.083 < PARPD =0.110<0.137
SRM
1.992 <RRSRM =2.715<3.701 0.326 < RDSRM = 0.350 < 0.376
1.118 < RRDSRM =1.248<1.319 0.178 < RDDSRM =0.186 < 0.194
0.454 < PARP =0.591 < 0.695 0.083 < PARPD =0.110<0.137
«fij. Hd 1578
«fi 1. HD 0.04967
«ii. Hd 10
[ «fi ). HD 3.1463%
«fi 1. H> 09503
/ «fi . HD 4.967%
ofiki — A 2Ll 4 =<e.= e=q3A°
40 50 60
77/511 235/511 199/511
H. ' & 72/511: 0.14090 220/511: 0.43053 186/511: 0.36400

72/77: 0.9351

220/235: 0.9362 186/199

:0.9347




H. | / 52/77: 0.675 180/235: 0.766  151/199: 0.759
3911 11938 10109 25958
e - A=<
%+ S
H. ' 478 :a 19073 :c 19551 :n1
Ho | 33:b 6374 :d 6407 :n0
511: m1 25447: m0 25958 :T
40 -
40 Y%t Y%
H. ' 72 :a 2589 :c 2661 :nl
H.o ' 5:b 1245 :d 1250 :n0:
77 3834 3911:T
2.739 < RR = 6.764 < 16.704 0.023 < RD = 0.023 < 0.023
1.300 < RRD = 1.385 < 1.474 0.245 < RDD = 0.260 < 0.275
2.790 < OR = 6.925 < 17.186
0.542 < PARP = 0.797 < 0.914 0.006 < PARPD = 0.008 < 0.009
«fi 1. H> 1.03805
«fi . HD> 0.005590
«fi 1. H> 01397
| «fi i. H> 0.5385%
«fi . HD 01341
/ «fi . HD 4.00185%
50
50 Yo Y%
H. ' 220 :a 8964 :c 9184 :n1
Ho | 15:b 2739 :d 2754 :n0
235 11703: 11938 :T

2.611 < RR =4.398 < 7.407
1.180 < RRD =1.222 < 1.266
2.652<0OR =4.481<7.574
0.553 < PARP =0.723 < 0.831
H> 0.91595

H >

«fi J.
«fi ).

0.0029346

0.018 <RD =0.018 < 0.018
0.165 <RDD =0.170<0.176

0.004 < PARPD = 0.004 < 0.005




«fi . HD> 0.13967
| «fi J. HD> 0.32089%
«fi . HD> 0.13673
/ «fiJ. HD 21011%
60
60 %+ Y%+
H. ' 186 :a 7520 :c 7706 :n1
Ho ! 13 :b 2390 :d 2403 :n0
199 9910 10109 :T

2547 <RR =4.462<7.814
1.185<RRD =1.232 < 1.280
2.587 < OR =4.547 < 7.994
0.541 < PARP =0.725 < 0.839

0.019 <RD =0.019<0.019
0.170<RDD =0.176 < 0.182

0.005 < PARPD = 0.005 < 0.005

«fiJ. HD> 0.9278
«fi y. HD> 0.003062
«fi . HD> 0.1397
[ «fi . HD 0.3300%
«fi . HD 0.1366
/ «fiJ. HY 2192%

3.343 < RRMH < 4.747 < 6.742
1.219 < RRDMH=1.248 < 1.278
3.899 < ORMH=4.841 < 6.896
0.638 < PARP =0.738 < 0.812
— SMR

3.363 < RRSMR=4.782 < 6.799
1.219 < RRDSMR=1.248 < 1.278
0.640 < PARP =0.740<0.814

0.019 < RDMH = 0.019 < 0.019
0.182 < RDDMH = 0.186 < 0.190

0.004 < PARPD = 0.005 < 0.005

0.019 < RDSRM =0.019 < 0.019

0.182 < RDDSMR = 0.186 < 0.190
0.004 < PARPD = 0.005 < 0.005

«fi J . HD 0.9425
«fi J. HD> 0.0033484
«fi J. HD> 0.1397
| «fi ). HD 0.35527%
«fi J. HD> 0.13632
/ «fi J . HD 2.3974%
3 < |==1 A — -~ O=I 3A°




RR RD OR
ol eni afiki (1.986 <2.709 < 3.693) | (0.326 <0.350<0.376) | 3.227 <4.841<7.262
3.340 < 4.747 < 6.747 0.019 < 0.019 <0.019 3.398 < 4.841 < 6.896
~ioKk 4.219 <7.067 <11.839 0.030 < 0.030 < 0.030 4.335<7.286 < 12.245
ofiki  ~idKk (2.276 < 3.646 < 5.841) | (0.373 < 0.405 < 0.439) | 3.937 < 6.986 < 12.397
~idKk 1.706 < 2.776 < 4.519 0.009 < 0.010 < 0.010 1.717 <2.803 < 4.577
ofiki -1k (1.282 < 1.922 < 2.881) | (0.232<0.263<0.299) | 1.677 < 3.044 <5.525
HM 3.328 < 4.732 < 6.728 0.019<0.019<0.019 3.387 <4.824<6.871
SMR 3.326 < 4.727 <6.718 0.014<0.014<0.014
ofiki HM (1.996 < 2.728 < 3.728) | (0.326 <0.350 < 1.376) | 3.692 < 4.867 < 6.417
ofi ki SMR (1.992 < 2.705 < 3.675) | (0.326 < 0.350 < 0.376)
~i 2k 40 2.739<6.764 <16.704 | 0.023 <0.023 <0.023 2.790<6.925 < 17.186
ofiki =13k 40 (1.544 < 3.484 < 7.863) | (0.353 <0.414< 0.485) 2.486 < 6.923 < 19.282
~i 2k 50 2.611 <4.398 < 7.407 0.018 < 0.018 <0.018 2.652 <4481 <7574
ofiki =ik 50 (1.625 < 2.567 < 4.055) | (0.301 < 0.336 < 0.374) | 2.450 < 4.481 < 8.198
-1k 60 2.547 <4462 <7.814 0.019 < 0.019 <0.019 2.587 <4.547 <7.994
ofiki =i 2k 60 (1.584 < 2.590 < 4.235) | (0.302 < 0.339 < 0.380) | 2.376 < 4.548 < 8.706
HM 3.343 < 4.747 <6.742 0.019 < 0.019 < 0.019 3.899 < 4.841 < 6.896
SMR 3.363<4.782 <6.799 0.019 < 0.019 < 0.019
ofiki HM (1.987 < 2.709 < 3.692) | (0.326< 0.350 < 0.376)
ofiki SMR (1.992 < 2.715 < 3.701) | (0.326 < 0.350 < 0.376) | 3.676 < 4.841 < 6.377
O P —
ol oni ofiki 3.227<4.841<7.2628 3.398<4.841<6.8% 1 — &L A{<s
- ] ems aqacidH - Lo cafiscoqar
o P < i (- 4
ol eniofiki o 3.227<4.841<7.2628 ' ®- 3340<4.747<6.7471 — =-—
L  Aj<ofikizde—oex — | 1 @. <vm™bdE osopn L
< o= el <| o ™< 4 |kl —%2. cev: e | o ™ o o mMg
=3 A°
3 Ve s51lofiki —' @« |8 1.986<2.709<3.693 % Nef 8 g Llo™y™ 5  19096<
2728 <3728 w= w=2q 8 | 4 | —! - 85llnfiki —oewx < ==%od |
=248 14 | —H. ! Lofiki % ~ o= ™Mo ™Y ke [ =248
k='fibrafiki — <8 z—' - —<|e— L =g A0



| . 3.340 < 4.747 < 6.747

~iok! @« 4.219 < 7.067 < 11.8398
~iok! @« 1.706 < 2.776 < 4.5198
HM 3.328 < 4.732 < 6.7285
SMR 3.326 < 4.727 < 6.718#
~iDKk¥% %d° ~idk¥% tos | kFed= of=™3A°  —
— %+ ¢da( F2 e30)2 L % %E-%%d o™ < | | [ %]<
d=™3ae1d e —e2a] A=%%Nef 8/ — - e-d A=
%# Nef| < =3 A°3V HM sSMR <L co™Ll_< <y mbd ™z AR
| Neo 5 2 — e-L =c< A T D A — e-#|
om™ms g [v—  E afrs % orqq3+e
5110 fi ki —
~idkoep 3.937 < 6.986 < 12.3978
-iok'! @« 1.677 < 3.044 < 5.5258
ofx HM 3.692 < 4.867 < 6.4178
ol oni oep s 3.227 < 4.841 < 7.262
511afiki D = # e=lf™m—|oery 2A° —obwn ¥%BYWod %S —obuxn
VeYood to083vV/ 4 - | Yelk 14" @< < ™ <af =3 A9 HM
| ot @ni st%ho™ ™ L =g AR  JL > —fler % - e-%
Nef| < -V =  EA—%£8/ — % <odqA-—2 A=% #| 0o ™<
194
b4 H - %Ft- | 12 Afrseeqnc
— o e 1 dovm_zAps/ —aidk 1 g{ewr—
0 %Nl 5 Y0/ 1 #58 < o= L [ =q3A4°
40 -idk! e« 2.739 < 6.764 < 16.704
50 ~idk' @« 2.611 < 4.398 < 7.407
60 ~idk' @« 2.547 < 4.462 < 7.814
' @« HM 3.362 < 4.776 < 6.784
' @« SMR 3.343 < 4.747 < 6.742
' o 3.363 < 4.782 < 6.799

~e. 8 1/ —HM 8SMR | e. |csofiki —oexn <¥%od o



of =™g3A9 14 |¢ % ™ <d 4c< - Hfm L =L o
30°/ L #8 -] - - & Afisr-e30°V 0wt # 3 -
Ver £ A=%FA°/ — | F2 [=qV™s ™3AC
40 —7% %o <of=™M3A9 Vw8 | %0 of=%denofiki % o ™%
v k- L o9y —eDawr 2| 40 —q %HNef<| 453F°Veonfiki Ows| %
od ™@o1yY ks o A skl %Nd/ ezA°1d— FFEsA{is|® ™pxH
= 2 HFErofs™MelszAY0F<00 2% LNej 3 8¢ |ff =8 F2
e _'i_ QE'H\/TMS TM=IA9
5110 fi K |
—ferofiki = < — | %04 J =™ A/ L #£8 -
— 4L o3 A0
ofiki 40 =~idkoex 2.486 < 6.923 < 19.282
ofiki 50 =i d>koex 2.450 < 4.481 < 8.198
ofiki 60 =i dkoex 2.376 < 4.548 < 8.706
ofi ki oex HM 3.676 < 4.841 < 6.377
ofiki oe 3.227 < 4.841 < 7.262
40 -iodk' e« 2.739 < 6.764 < 16.704
50 ~idk' @« 2.611 < 4.398 < 7.407
60 ~idk' @« 2.547 < 4.462 < 7.814
' @< HM 3.362 < 4.776 < 6.784
' - SMR 3.343 < 4.747 < 6.742
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b - 2 - T wne %t eer s - | Ve
428 H ! 2 %Er o L 15 # 0.019(0.1267%/ )< *° | 7 4 - & 0.030
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PARP (RiskRatio) PARP (Odds Ratio) /
«fi 1. HD «fi J. HD
ol eni afiki (0.454 < 0.590 < 0.694) | 0.646 <0.742 <0.807 | 0.04967 4.967%
0.639<0.739<0.813 0.660 < 0.742 < 0.800 | 0.0023764 2.248%
~iok 0.606 < 0.733 < 0.820 0.634 < 0.738 < 0.806 | 0.004334 2.493%
ofiki ~ioKkK (0.522 < 0.694 <0.806) | 0.713<0.819 < 0.879 | 0.006315 6.315%
~ioK 0.552 < 0.751 < 0.864 0.585 < 0.752< 0.840 | 0.0012274 2.060%
afiki ~iok (0.187 < 0.429 < 0.605) | 0.361 < 0.600 <0.732 | 0.03118 3.118%
HM 0.638 < 0.738 < 0.812 0.660 < 0.742 < 0.800 | 0.0023764 2.248%
SMR 0.638 < 0.738 < 0.812 0.0023764 2.248%
ofi ki HM (0.456 < 0.593 < 0.697) | 0.647 <0.743 < 0.808 | 0.04967 4.967%
ofi ki SMR (0.455 < 0.590 < 0.693) 0.04967 4.967%
~i 2k 40 0.542 <0.797 <0.914 0.600 < 0.800 < 0.881 | 0.005590 4.002%
ofiki =13k 40 (0.304 < 0.667 < 0.847) | 0.559 < 0.800 < 0.887 | 0.08335 8.335%
~i2k 50 0.553<0.723 <0.831 0.583 < 0.727< 0.813 | 0.0029346 2.101%
ofiki ~i>k 50 (0.347 < 0.571 < 0.722) | 0.554 <0.727 < 0.822 | 0.03444 4.344%
~i2k 60 0.541 < 0.725 < 0.839 0.574 < 0.729 < 0.818 | 0.003062 2.193%
afiki ~i>k 60 (0.331<0.574<0.733) | 0.541<0.729<0.827 | 0.0453 4.5316%
HM 0.638 < 0.738 < 0.814 0.657 < 0.740 < 0.814 | 0.0033484 2.3974%
SMR 0.640 < 0.740 < 0.814 0.0033484 2.3974%
ofiki HM (0.454 < 0.590 < 0.694) | 0.646< 0.742 < 0.807 | 0.04967 4.967%
ofiki SMR (0.454 < 0.591 < 0.695) 0.04967 4.967%
2| s | 0.633<0.75.2<83.2< 0 =™gA° 4 |safiki %' fisr<o |
oYl V 8 d — n=# Ligr = ™3 AW — Y% [ =™p ™Y kg
{d™|{1<% sgyfoqVe Y% ™< ™Me | <#obm zD @— L o
=maas - o
511afiki o e 0.646 < 0.742 < 0.807
' e~ 0.639 < 0.739 < 0.813
0P 0.660 < 0.742 < 0.800
- ' o~ %W — — <~ ™y Eksoepy | fo' @
- zd2e— b4 o=mdeqy Ligoq ™ <of=m< afqqa°/
Jofkreafikizo>e— |4 L o= MYy Mg TMg A9
| 75%  Nef 5 A %s - L o= 14 — # Ve TBWEAZL
- olfer 0= o3 ™3A% 1% & o B L A=t 52
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L ={< 7 «fi s . Hd %o L =™ fezAe = L.
TM!;/S-\/ ™M TM=I JANES

H. ! <dk -t D efi< GagA
1l— #| - CagA— sdketdefi— L fy=  o=™3A0 |/ L4
=734°
CagA H. ' % A %F-— —Ls=#Ne| #£8H. ' - - <
Fl=miae 4L c=mfso 4 ™ < %Nostdqa°CagAl
I L T 14 v CagA | d 8 6z o
L % 1A1<%  1d=™gA0 - == #| o-H. ' % cCagAdld -
=il s g =
dk -t 2 e fi (PG) vl 144 ak-fi— —1<#s - 39 =™3A°
—>— q¢# t 44 %~ |F4 eake-t 2 9fis<u(PGLPGI)- td 340 - -
- - L Lo swh - =o= M
Ao —Adketdefi—ur Af3—- & ={<-= - = %</ - 8
— 8 - - % %{3Ac Yok—@®-' 2> afia < o= #Nfu
<% |[%<od E=™3A9=g4s - %+ e- zaAc
CagA
1= —' @« | — #ovouidL -5 CagA-— AL e=q3A0°
' e- |/ 3.340 <4.747<6.747  0.019 < 0.019 < 0.019

o |/ 4.219<7.067<11.839 0.030 <0.030 < 0.030
o |/ 1.706 < 2.776 < 4.519 0.009 < 0.010<0.010

gfiki op 3.227 <4.841 < 7.262
agfiki O P 3.937 < 6.986 < 12.397
agfiki O P 1.677 < 3.044 <5.525
ofi ki
%=|= %=|=
CagA+ 390: a 358: ¢ 748: nl
CagA 121: b 153:d 274:n0
511: m1 511: mO 1022: T

1.016 <RR=1.181<1.371 0.074 < RD =0.080 < 0.085



1.011<RRD=1.089<1.174 0.059 < RDD = 0.063 < 0.066
1.043<OR=1377<1.174
0.012 < PARP =0.117 < 0.214 0.006 < PARPD =0.043 < 0.080
«fi J. HD> 1.835(Max2.0)
«fi J . HD :0.00361
«fi . HD>:1.0

«fi . HD (%): 0.196
«fi 1. HD( ): 0.9964
«fi J . HD (%): 0.361%
%+ Y%
CagA+ 390: a 17828: c 18218: nl
CagA 121: b 7619: d 7740: n0O
511: ml1 25447: mO 25958 : T
1.119<RR =1.369< 1.676 0.006 < RD =0.006 < 0.006
1.037 <RRD =1.089 < 1.144 0.060 < RDD = 0.063 < 0.065

1.121 <OR =1.377 <1.692
0.077 < PARP =0.206 < 0.322 0.001 < PARPD = 0.002 < 0.003
0.083 < PARPOR =0.209 < 0.312 0.002 < PARPDOR = 0.006 < 0.009
«fi ;. HD> 1.0184 (Max2.0)
«fi J . HD :0.0002724
«fi J . HD :0.13967

«fi 1. HD (%): 0.02675
«fi 1. HD( ): 0.13940
«fi 1. HD (%): 0.19505%
ofiki —o e % 1043<OR=1377<1174< —' ®- 1119 <RR=1.369 < 1.676
| e vmbdE [ =m™M3A0/ | 2 — % a4 Ll—< <30
| 8 — %+' . 511/25958 % A °

/ -=8 CagA — %+' @- | 121/7740/ = CagA+— %+' e@- | 390/18218% A °
/L #S8
CagA —' e /| |

(121/7740)/(511/25958) = 0.794135732  (121/7740) - (511/25958) = -0.004052571

CagA —' e /| |

(390/18218)/(511/25958) = 1.087462360  (390/18218) - (511/25958)= 0.001721753

rd bdecagh  wrwmf v | — |° 04w — | 017 Lol osi |4 A



IgG & CagA Ofi k i

%+ Y%+
IgG + CagA+ 363: a4 281: c4 644: n14
IgG + CagA 115: a3 102:c3 217: nl13
IgG CagA+ 27: a2 77:c2 104: n12
IgG CagA 6: al 51: cl 57: nl1
511: m1 511: m0 1022: T
IgG CagA < -=(1.0)8 — RelativeRisk & — -~ o= ™3 A0
RelativeR1 = 6/51 = 0.11765 ->1.0
RelativeR2 = 27/77 = 0.35065 -> (27/77) 1 (51/6) = 2.9805
RelativeR3 = 115/102 = 1.12745 -> (115/102) / (51/6) = 9.5833
RelativeR4 = 363/281 = 1.2918 -> (363/281) / (51/6) = 10.9804

1#819gG CagA &£ - oc=LNyd ™ %N gqyde/ 128141l
134°

«—

IgG & CagA
Yo Y%t
1gG + CagA+ 363: a4 13993: c4 14356: n14
IgG + CagA 115: a3 5079:¢c3 5194: n13
lgG CagA+ 27: a2 3835: c2 3862: n12
IgG CagA 6:al 2540: c1 2546: n11
511: m1 25447: m0 25958 T

R1 = 6/2546 RelativeR1 = (6/2546) / (511/25958) = 0.1197135

R2=27/3862  RelativeR2 = (27/3862) / (511/25958) = 0.355141835

R3 =115/5194 RelativeR3 = (115/5194) / (511/25958) = 1.124724675

R4 = 363/14356 RelativeR4 = (363/14356) / (511/25958) = 1.284468634

Lz & — %+' e- 511/250584L o5 A0

14| ¢ RelatveR1 & ~A{<s Fz— <sVv™fE o[ =™M3A/ | #
£Neff< 481 Lf— 4 eq A O

akotdefi ( — )

k-t 2efi— L — ~_' @ 1 o=/ — RiskRatio o0 ¢ %l



akeot D efi ofiki
%+ Y%+
Pepsinogen 3+ 227: a4 136: c4 363: n14
Pepsinogen 2+ 171: a3 141:c3 312: n13
Pepsinogen + 21: a2 18: c2 29: n12
Pepsinogen 92: al 216: cl 308: n11
511: m1 511: m0 1022: T

RelativeR1 = 92/216 = 0.425925925 -> 1.0 ~
=1.1667 ->
RelativeR3 = 171/141 = 1.212765957 ->
RelativeR4 = 227/136 = 1.669117647 ->

RelativeR2 = 21/18

(21/18) / (92/216) = 2.739

(171/141) / (92/216) = 2.847
(227/136) / (92/216) = 3.919

Yo Y%t
Pepsinogen + ~3+ 419: a 295: ¢ 714: nl14
Pepsinogen 92: b 216: d 308: n11
511: m1 511: m0 1022: T
1.638 <RR =1.965 < 2.356 0.271 < RD =0.288 < 0.307
1.305 < RRD =1.420 < 1.546 0.230 < RDD =0.243 < 0.256
2.506 < OR =3.335<4.438
0.308 < PARP =0.403 < 0.487 0.132 < PARPD =0.174 < 0.214
«fi . HD> 1.8314
«fi . HD> 0.05153
«fi . H> 1.000
/| «fiy. HD> 28138%
«fi J . HD 0.9485
/ «fi ;. HD> 5.1533%
akeot D oefi
Yo Y%t
Pepsinogen 3+ 227: a4 6773:c4 7000: n14
Pepsinogen 2+ 171: a3 7022:¢c3 7193: n13
Pepsinogen + 21: a2 896: c2 917: nl12
Pepsinogen 92:al 10756: c1 10848: n11
511: m1 25447: m0 25958 :T
1L # | A — %+' e- 511/250584L o5 A
R1=92/10848 RelativeR1 = (92/10848) / (511/25958) = 0.430812681
R2 =21/917 RelativeR2 = (21/917) / (511/25958) = 1.163322926

R3 =171/7193

RelativeR3 = (171/7193) / (511/25958) = 1.207636909




R4 =227/7000

RelativeR4 = (227/7000) / (511/25958) = 1.64732066

R234 = 419/15110 RelativeR234 = (419/15110) / (511/25958) =1.408639579

ket Dofide #Ne <%/ 14

— @-sofisrodgqA0

H.pylori & PG ( — )
- H. <dketdefi— — 4 Fyd o=™M3Ae/ —
N °
H. ! <dkot D ofi ofiki
%+ Y%+
D: H.P. PG+ 17: a2 20: c2 37:nl4
C.H.P+ PG+ 402: a4 275: c4 677:nl3
B: HP+ PG 76: a3 108:c3 184: n13
A: H.P. PG 16: al 108: cl 124: n1l
511: ml1 511: mO 1022: T

RelativeRA = 16/108 = 0.148148148 -> 1.0~

RelativeRB = 76/108 = 0.703703703 ->
RelativeRC = 402/275 = 1.461818182 ->

RelativeRD = 17/20=0.85 ->
RelativeBCD = (495/403) / (16/108) = 8.291

(76/108) / (16/108) = 4.75
(402/275) / (16/108) = 9.867

(17/20) / (16/108) = 5.7375

H.pylori & PG ( — )
Yo Y%
D: H.P. PG+ 17: a2 996: c2 1013: n14
C:H.P+ PG+ 402: a4 13695: c4 14097: n13
B: HP+ PG 76: a3 5302:c3 5454: n13
A: H.P. PG 16: al 5378: cl 5394: n11
511: m1 25447:m0 25958 T
T | 4 — %+' e- 511/25058(131.2376 10 [/ )t

RA =16/5378 =19.8339( 10
RB = 76/5302 = 94.2110( 10

RC = 402/13695

= 195.69185(

RD = 17/996 = 113.7885( 10
RBCD = 495/20564
=160.4746( 10  /

/ o=8

10

-od3

/) RelativeRA = (16/5378) / (511/25958) = 0.151129593
/) RelativeRB = (76/5302 ) / (511/25958) = 0.717865566

/ ) RelativeRC = (402/13695) / (511/25958) = 1.491126006
/ )  RelativeRD = (17/996) / (511/25958) = 0.867041551

RelativeRBCD = (495/20564) / (511/25958) =1.222778888

RBCD = 495/20564 = 0.02407 (2.4%) = 2407( 10 )
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A — rof =™3A°
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55-59 60-64 65-69 70-74
103.2 1481 2184 302.3
148.4 230.5 3424 4835
59.2 70.4 106.5 150.5
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1= L A=
H.pylori & CAG ( — )
Yot Y%t
D: H.P. CAG+ 4: a2 29: c2 33:n14
C: H.P.+ CAG+ 44 a4 1285: c4 1329: n13
B: H.P.+ CAG 37: a3 2291:.c3 2328:. nl12
A:H.P. CAG 2:al 963: cl 965: n11
87: ml 4568: m0 4655: T
IgG CagA i+ < -=(1.08 — Relative Risk& — -~ o= ™3 A
RelativeR1 = 2/965 = 0.0020725 ->1.0 -
RelativeR2 = 37/2328 = 0.01589 -> (37/2328) x (965/2) = 7.6686
RelativeR3 = 44/1329 = 0.03311 -> (44/1329) x (965/2) = 15.9744
RelativeR4 = 4/33 = 0.1212 -> (4/33) x (965/2) = 58.48485
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87/4655 = 116.8099 ( 10  / )
1] Fz-—(1812376 10 /) 5738723 < %O M3 Yo 4k
o< 4 o

Yol — |8 — <A 8B 8C D —  %HY%od ™M3A—#8/ —
> — L AV E-™M=™M=nedqd k=570

A 8B 8C &8D -—

A B C D Total
33.816% | 40.97% 25.21% 8286 1995/2009
)p~- (2802) (3395) (2089)
10)
56% 14% 27% 3% 2695 H23:
11) (1504) (372) (728) (91) 2011
11) 48% 17% 31% 4% 724
11) 59% 13% 25% 3% 1971
9) | 20.730% | 50.01% 28.55% 0.7089% | 4655 1994/1995
(965) (2328) (1329) (33) age40-59
12) | 47.60% 30.56% 15.495% | 6.344% 6983 1995/1997
(3324) (2134) (1082) (443)
12) 47.26% 31.14% 14.91% 6.69% 4782 1995/1997
(2260) (1489) (713) (320)
12) 48.34% 29.305% | 16.765% | 5.59% 2201 1995/1997
(1064) (645) (369) (123)
60 49.95% 31.045% | 13.37% 5.63% 4210
12) 2103 1307 563 237
60 27.45% 31.82% 31.47% 14.51% 572
12) 157 182 180 83
60 49.71% 29.24% 16.33% 4.71% 1953
12) 971 571 319 92
60 37.5% 29.84% 20.16% 6.45% 248
12) 93 74 50 31
14) | 70.651% | 19.363% | 9.134% 0.8642% | 15043 2007
10628 2911 1374 130 Y% 12
57.226% | 18.94% 19.96% 3.87% 15430 H23/H24
15) 8830 2923 3080 597 2011/2013
73.8% 12.6% 11.8% 1.8% 1488 2011/6




1098 188 175 27 E55 4 A
16) Y |
40 16) |81.34% |10.24%: |7.68%: |0.73%: | 820
667 84 63 6
50 16) |71.43% | 12.50%: |13.75%: |2.32%: |560
400 70 77 13
60 16) |52.94% |20.915%: |21.57%: |4.575%: | 153
81 32 33 7
70 16) | 50.0% 20.0%: 20.0%: 10.0%: |10
5 2 2 1
17) |58.588% | 18.1925% | 19.6815% | 3.538% | 6783 H25
3974 1234 1335 240 2013
17) | 88.191% |9.045% | 2.764% | 0% 398
39 351 36 11 0
17) | 85.054% |9.7826% | 4.0761% | 1.087% | 368
40 313 36 15 4
17) | 80.1887% | 13.522% | 4.717% | 1.572% | 318
45 255 43 15 5
17) | 77.224% | 16.726% |5.694% | 0.356% | 281
50 217 47 16 1
17) | 67.062% |20.178% | 10.979% | 1.7804% | 337
55 226 68 37 6
17) | 62.828% | 20.0% 15.1515% | 2.020% | 495
60 311 99 75 10
17) | 54.172% |22.491% | 21.282% | 2.0556% | 827
65 448 186 176 17
17) | 50.906% | 20.544% | 25.3776% | 3.172% | 662
70 337 136 168 21
17) | 51.440% | 18.519% |25.926% |4.115% | 486
75 250 90 126 20
17) | 48.487% | 18.882% | 26.6565% | 5.975% | 2611
76~ 1266 493 696 156
53.00% | 27.0026% | 16.999% | 2.999% | 21772 H24: 2012
18) 11539 5879 3701 653 108 Y%+
19) 22.591% | 38.198% | 36.802% | 2.409% | 2864 1987
647 1094 1054 69
- -8 1995 < 2010 - egA°/ 4|8 — # es<s —




- -3 A° 3V 8 2008-2010 — 2— #£|8H. ! | 35 39 19.6%° 40
49 258%° 50 59 39.4% 60 69 50.3%% ° £ | 36.4% ~vo 1dd -~ o=L
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60.00% v

40.00%

80.00%

®~1 Dk A
20.00% * o

0.00% . . . .
1980 1990 2000 2010 2020

0.821155079

i Dk B

2020
2010 ®sy o
2000
1990

1980 . . .
0.00%  20.00%  40.00%  60.00%

-0.82037

oi Dk C

2015
2010
2005
2000
1995
1990
1985 - . . .
0.00% 10.00% 20.00% 30.00% 40.00%

.i)KC

-0.584084829



i Dk D

2015 +
2010 ¢ &
2005 ¥
2000 °-i kD
1995 % L 4
1990
1985 LA . .

0.00% 2.00% 4.00% 6.00% 8.00%

-0.001533636
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2005 ®
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-0.583495703

o |
v e aket defi—  %H.
SJasdeave —alnig=t

3/8=|=

@El TM:I z=|=9<:1/3=>80h¥EJ‘%1/81/8J'\/ |

t/ en J—@E TM:I A °
S/ J|| — - —_ — == TM-"—J/SH-
s =] Mmams pfqa-e



F2aket defi—g—

E1 BHRECREATY Y Uk

Al A O1007)

8

A

3

20

10

(2

Hid=zm

HE(268%),

E.ﬂ%)#ﬂ}

EE(200%)
e

B F(158%)

il (04%)

5 10

15

0 75

30

AT SRS A OkE (8 21)

100 4
80+
60

L

2 40

1l

~9 V8 VB 8 B B8 08 N 0

|l

R (R
1. BFEMWIZE SH. pylon BRF

— -;i-”-sH,ui _ 7 -
CERFR TRV

AL afsewng) cas by
V o8 — £8D— Ye
A %F - o=—D—Ar =V
- L % o8 % 0 # Nef

LNe| | M# A% —

~odg4°

%=|=

|

T

—

co™p<d 3 ovH—at Ll —

< =

=100

=

20)

<™e | <%

IN

¥% <

04D A %Ne| < |
Wid=masdos o=e/ 4 -

-" Ys<

TM:I Ag

44

of =248/ -3 ™MLNe|| —% -

- %0 0f =™3A93YV8

43 3F°/ «=°
%=|=

Las s

A B C D Total
0% 2.1% 5.77% 2.625% 12
) P - (0/260) (12/571) | (18/312) (30/1143)




10) 0% 0.21% 1.87% 0.555% | 14
0/2802 | 7/3395 | 39/2089 46/8286
9) |0.207% |1.589% |3.311% |12.121% | 1.869% | 16
(2/965) | (37/2328) | (44/1329) | (4/33) 87/4655 | 40" 59
13) 0% 0.81% 1.8% 6.45% | 0.97% 7.7
0/967 19/2341 | 24/1316 | 2/31 45/4655
12) | 0.2106% | 0.2812% | 1.6636% | 2.709% | 0.6158% | 4.7
7/3324 | 6/2134 | 18/1082 | 12/443 | 43/6983
12) 0.3097% | 0.2686% | 2.3843% | 3.125% | 0.79465% | 4.7
712260 | 4/1489 | 17/713 | 10/320 | 38/4782
12) 0% 0.3101% | 0.2710% | 1.6260% | 0.22716% | 4.7
0/1064 | 2/645 1/369 2/123 5/2201
60 0.238% | 0.0765% | 1.954% | 1.688% | 0.50% 4.7
12) 5/2103 | 1/1307 | 11/563 | 4/237 21/4210
60 1.274% | 1.648% |3.333% | 7.229% |2.972% |4.7
12) 2/1157 3/182 6/180 6/83 17/572
60 0% 0.175% | 0% 0% 0.051% | 4.7
12) 0/971 1/571 0/319 0/92 1/1953
60 0% 1.35% 2% 6.45% 1.61% 4.7
12) 0/93 174 1/50 2/31 4/248
19) 0.31% 0.14% 3.8% 4.34% | 2.13% 1987-1996
21647 15/1094 | 41/1054 | 3/69 61/2864 | 10
AleEFr o0 <8CD% <— | = d30%t<o-D| r[=%% %o id oot
Z | 0 | = J3y+—zeqvs - % — N ga9/ 1#8le
= =0 =q34°

March/1995 -Feb/1997 12)

H.pylori & CAG (

&

- AP -

6983/9293 4.7

48.9 (SD=8.5)

A: 47.1 (8.1), B: 49.2 (8.3), C: 52.0 (8.5), D: 53.3 (8.8)

Yo Y%t

D: HP. CAG+ 12: a2 431: c2 443: nl4

C: H.P.+ CAG+ 18: a4 1064: c4 1082: n13

B: H.P.+ CAG 6: a3 2128:c3 2134: n12

A:HP. CAG 7:al 3317: cl 3324: n11

43: ml 6940: mO 6983: T

RA =7/3324 = 44.8063( 10 /) RelativeRA = (7/3324) / (43/6983) = 0.341987798
RB = 6/2134 =59.8217( 10 /) RelativeRB = (6/2134) / (43/6983) = 0.456594232




RC = 18/1082 = 353.95446( 10 / ) RelativeRC = (18/1082) / (43/6983) = 2.70158621

RD = 12/443=576.3412( 10 / )  RelativeRD = (12/443) / (43/6983) = 4.398971075
RBCD = 36/3659

=209.3352( 10 /) RelativeRBCD = (36/3659) / (43/69 83) =1.597767849
|- - %+ | ® 43/6983 = 0.131017(131.0173 10 / )<od34° 144
- L L=mgps

Yo - %+ | # 2000 #
50 54 %8 64.3( /)8 88.7( I )8 40.0( /)
sof=miacid|eoned %t % myacid|e - Af-zofer -

Y%Ne 3 A —# 8 —e0 o HBE o opalfia 22) - |F{ = 2003 %

375( / )50 54 % 55.7( /) 28.4( /1)
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z2|/74]| <o00™s™e—% £A° | 8 sodkfi — % #A°
v e ™ o ad 4L og= v =l @«— a1 <spofiki & 4.y -1 e
e— 4 % d<— - #™=TM3 A9 Llpo8 YKk | L | o a=™%
sA—zsaofikid 4 <y <| %~ ™3Ac|ff =5 - ds - -
1— Ly —35 e < %% YF°
A< FA—%8 L 4 - o=V ™M Mg A0
9L  ~=q94°
%t
H. ' 81: a 40909: S1
H. 6: b 13231: SO
87: m1l S=S1+S0
IR = a/S1/c/S0 = 81/40909 /6/13231= (81x13231) / (6x40909) = 4.366
Cl=IRxexp(+ 1.96 x | (1/a+1/b)) = IR x exp(+ 0.8293) =10.01/1.905
IR = 4.366 (1.905/10.01)
1 =0 g o[V |8/ — A==s -V | Agz— & av
L—-od30—2¢8 - < Lygr vi—r|of=™3yF9 clpos Y0
™y ks — 6 6~ d/ —3 3 =3 A°
%
H. 81: a 3657:n1 | 11.2:t1 40909: S1 | 49.8:Y1
Ho ' 6: b 998: n0 13.3: t0 13231: SO | 48.3:Y0
87: m1 4655: n 11.6: t 54140: S 49.5:Y
LAl el L /44" e o2d  Afs - roqqac
Yo Y%
H. ' 81:a 3576: ¢ 3657: nl
H. 6: b 992:d 998: n0
87: m1 4568: m0 4655: T
RR = 3.684 (1.612/8.418): 0.4216
RD = 0.016 (0.016/0.016): 0.00347
OR = 3.745 (1.629/8.608) : 0.4246
= 0.678 (0.325/0.854)
' ®- 3684<o e 3745| Yeod ™™MEA % 4366 | Ng{ oNedsgyF9 4]
-8 H., | — %112 #NJ v —r =8H. | — % 133 <



el—rt

MY TMZ | [ = TM3 A9 Lp< ™M =8 8 — o. i/ —33 elc<
L %N 340
-yl 49 #A—# 13 3 A< 61 #FA—#8 - % - %
FA—%° 4 »D) =3 4 <aofiki % 0rod<s]| aqe AL
A1t~ %NggA°0
7 I\/ — o™ ™™ @E_n\/TMS TM=IA9
378+
H. ' 81: a 3657: nl 11.2: 11 40909: S1 49.8: Y1
H. 6: b 998: n0 13.3: 10 13231: SO | 48.3:Y0
87: ml 4655: n 11.6: t 54140: S 49.5:Y
Ll EH ! —' @< R1| & 81/40909 = 198.00044 ( /)
Ll EH ! —' ®- RO| ® 6/13231 = 45.34805 ( /)
L1 —' @< Rt| 8 87/54140 = 160.69450 ( /)
Ys E AN
F2 =3 c>\/||-eu—1— $|8 s |—| v—|o=|=|z=|=%81/3o=|
™M % | — L J’E C,E_"\/TMS TM=IA9
Yo 8)— 2011 — YF— | — rod3a°
48 49 50 51 52 53 54
0.00033 | 0.00033 | 0.000746 | 0.000746 | 0.000746 | 0.000746 | 0.000746
0.256177 | 0.289135 | 0.363494 | 0.437797 | 0.512045 | 0.586238 | 0.660375
0 | 0.032957 | 0.107316 | 0.18162 | 0.255868 | 0.33006 | 0.404198
1| 1.12865 | 1.418914 | 1.70896 | 1.998791 | 2.288405 | 2.577803
55 56 57 58 59 60 61 62
0.00146 | 0.00146 | 0.00146 | 0.00146 | 0.00146 | 0.00236 | 0.00236 | 0.00236
0.80539 | 0.950193 | 1.094784 | 1.239165 | 1.383335 | 1.616099 | 1.848313 | 2.07998
0.549212 | 0.694015 | 0.838607 | 0.982987 | 1.127157 | 1.359921 | 1.592136 | 1.823802
3.143875 | 3.709119 | 4.273539 | 4.837135 | 5.399908 | 6.308513 | 7.214973 | 8.119294
8 L <oy | —lerodqac
L L #8 Ho | 848 % %|o54°61 3%—13 td 8 H



| 50 % 34s61 5% tdviscodgacr g % o—|8/ 4 %483
+13.3=61.6< 49.8+112=6102Nef 1 <2A°/ L £8 H. ' — 483 -— | 0.7
<od3A°/ =861 — | 06 99V8H. ' —498 — | 02 s61 —

| 0 sodgn9|ff=e48 L -~ s]c<cs

S08= n0 x 14(1 + 0.7 x 0.0(48 )+ 0.00033(49 ) + 0.00107(50 )+ 0.00182(51 )+ 0.00256(52 )
+0.00330(53 )+ 0.00404(54 )+ 0.00549(55 )+ 0.00694(56 )+ 0.00839(57 )+0.00983(58 )
+0.01127(59 )+ 0.01360(60 )+ 0.3x0.01592(61 ))

= 998 x 14 x 1.078192

= 14050.04
S16=n1x 12 (1 + 0.2 x 0.00033 + 0.00107 + 0.00182 + 0.00256 + 0.00330 + 0.00404 + 0.00549 + 0.00694
+0.00839 + 0.00983 + 0.01127 + 0.01360 + 0.0 x 0.01592)

= 3657 x 12x 1.06863919

= 44135.01
"e- — | L L[FL e=%s ag4° 2N — — 2B NI
Yoot | @« 3V | |8 z2a—%2/ — — % t A =%s< td30—2/
2 L o=qq-fes

S06=6n0 x (0.7 x 1 + 1.128650337 + 1.418913522 + 1.708960244 + 1.998790666
+ 2.288404948 +2.577803251 + 3.143874503 + 3.709119411 + 4.273539182
+ 4.837135021 + 5.39990813 + 6.308513006 + 0.3 x 7.214973311)
=n0 x 43.8226
=998 x 43.8226
=43734.95

S16-6n1 x (0.2 x 1.128650337 + 1.418913522 + 1.708960244 + 1.998790666 + 2.288404948
+ 2.577803251 + 3.143874503 + 3.709119411 + 4.273539182 + 4.837135021 + 5.39990813
+6.308513006 + 0.0 x 7.214973311)

= 3657 x 37.89069

=138566.3
%oF
H. | 8l:a 3657: nl1 11.2:t1 138566.3: S1 49.8: Y1
H. | 6: b 998: n0 13.3:t0 43734.95: SO 48.3:Y0
87: ml 4655: n 11.6:t 182301.25: S 49.5:Y

vl e e |



IR 6=0a/S 13 0BS06=081/164125.923 /6/46914.56836
= (81x46914.56836) / (6x164125.923)
= 4.260935
Cl =R x exp(+ 1.96 x | (1/a+ 1/b)) = IR x exp(+ 0.8293) =9.7646/1.8593
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97.585
96.997
100.172
95.824
99.139
106.41
113.999
100.707
104.098
100.976
100.826
94.131
106.896



2003 13.463 0.544 9.024 0.388 99.973

1995 18.413 0.72 12,75 0.517 99.435

2009-2013 10.365 0.292 7.007 0.216 101.689

2013 9.015 0.574 6.042 0.422 98.207

2011 10.269 0.656 6.949 0.487 99.636

2003 14.891 0.853 10.28 0.637 106.783

1995 19.337 1.01  13.493 0.747 102.622

2009-2013 11.739 0.492 8.023 0.375 111.004

2013 959  0.987 6.517 0792 107.136

2011 11.195 1.019 7.492 0.744 108.478

2003 11.681 1.038 7.932 0.767 90.159

1995 19.284 1.454 13.107 1.053 107.446
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Wakayama prefecture
1994/Apr & 1997/Mar

23) PG I LEVEL 70 mg/1AND PG I/l RATIO 3.0
Group with H. pylori infection Group wit h H. pylori eradication
Total PG test PG test | Total PG test PG test
negative | positive negative | positive
Subjects 3656.0 | 2327.0 1329.0 473.0 318.0 155.0
Person-years 35101.5 | 22436.0 | 12665.5 | 4263.0 | 2918.0 1345.0




Age y [mean (SD)] 49.8 49.5 50.4 49.6 49.3 50.9
(4.6) (4.7 4.3) (5.5) (5.6) (5.5)
Current smoking n (%) 2087.0 | 1242.0 845.0 262.0 169.0 93.0
(57.1) (53.4) (63.6) (55.4) (53.1) (60.0)
Alcohol use, n (%) 2432.0 | 1479.0 953.0 310.0 204.0 106.0
(66.5) (63.6) (71.7) (65.5) (64.2) (68.4)
Follow -up y [mean(SD)] 9.6 9.6 9.5 9.1 9.2 8.7
(1.0) (1.1) (1.2) (1.4) (1.3) (1.6)
PG I, ng/ml [mean(SD)] 62.0 75.8 37.9 74.2 92.5 36.8
(32.5) (31.1) (17.5) (34.6) (57.0) (18.2)
PG Il, ng/ml [mean(SD)] 20.0 20.3 19.5 23.1 24.9 19.5
(11.0) (12.4) (7.8) (14.6) (16.5) (8.4)
PG I/ll [mean(SD)] 3.4 4.3 2.0 3.4 4.1 1.9
(1.6) (1.4) (0.7) (1.5) (1.3) (0.7)
Total gastric cancer
Agey 50.8 50.6 50.9 53.4 50.5 55.3
[mean(SD)] (3.9 (4.3) (3.6) (5.5) (3.5) (6.4)
Size of the cancer, 12.8 14.4 11.4 12.0 12.5 11.7
mm [mean(SD)] (8.3) (10.4) (5.3) (5.7) (3.5) (7.6)
Depth of cancer invasion 41:9:5 15:7:3 26:2:2 5:0:.0 2:0:0 3:0:0
(m:sm:mp)
Follow -up, y 5.9 4.3 5.6 6.0 5.0 6.7
[mean(SD)] (2.5) (2.4) (2.5) (1.0) © (0.6)
Cases/incidence rate 55/157 | 25/111 30/237 5/117 2/69 3/223
Intestinal gastric cancer
Cases/incidence rate 36/103 | 14/62 22/174 4/94 1/34 3/223
Diffuse gastric cancer
Caseslincidence rate 19/54 11/49 8/63 1/23 | 1/34 0

IR(total) = 60/39364.5 = 0.01524215 (152.4216 10 )
IRHP+ = 55/ 35101.5 = 0.001566884 (156.6884 10 ) IRRHP+ 1.0280
Cl=IRRHP+ x exp ( = 1.96 x | (1/55 + 1/60)) = 1.028 x exp(+ 0.365887878) = 1.482/0.713
IRHP - =5/4263.0 = 0.001172882 (117.2883 10 ) IRRHP - 0.7695
IRPG+ = 33/14010.5 = 0.002355376 (235.5376 10 ) IRRPG+1.5453
IRPG- = 27/25354 = 0.00106492 (106.4921 10 ) IRRPG- = 0.6987
IRHP+ PG+ = 30/12665.5 = 0.002369 (236.8639 10 ) IRRHP+PG+ = 1.5540
IRHP -PG+ = 3/1345 = 0.002240 (223.0483 10 )
IRRHP -PG+ = 1.4634  IRR HP-PG+HP+PG+= 0.9417
IRHP+PG - = 25/22436.0 = 0.0011129 (111.2941 10 ) IRRHP+PG - = 0.7302



IRHP-PG- = 2/2918 = 0.0006854 (68.5401 10 )
IRRHP -PG- = 0.4497 IRRHP -PG-HP-PG+ = 0.6159 CI = 2.600/0.1459

3 | 8 — 2 =mk 8 PG Negative HP infection < PG Negative HP eradication %s Log-Rank test
A ™= %Ne|| £ == ™3 A9/ — Kamplan -Meier = 2 K& 3 A< Log-Rank Test & = |
-] %od =N Loe=mgas/ 1zes47] L L=g o fes
Type Cases Persons-years
PG Negative HP eradication 2 2918
PG Negative HP infecti on 25 22436

IR = (2/2918) / (25/22436) = 0.6151
Cl =0.6151 x exp(+ 1.961 (1/2 + 1/25)) = 2.5969/0.1457

VL2 | e 1.0dg v mg ™My A—2 0 e<™el<-adg5A°

Type Total
PG Negative HP infection 25 2302 2327
PG Negative HP eradication 2 316 318

RR = 0.407/1.708/7.178
OR = 0.404/1.716/7,279

LdL =L o™ o]#okes
< o= | (68.5401 10 )< (111.2941 10 ) —(152.4216 10 ) |4 e
o0 = ™ A °

Type Cases Persons-years

PG Negative 33 14010.5

PG Positive 27 25354

IR = (33/14010.5) / (27/25354) = 2.2118
Cl = 2.2118 x exp(+ 1.961 (1/33 + 1/27)) = 3.6782/1.3300
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Normal BGastritiBAtrophyblntestinal Metapb®ysphasi
Il — % Intesinal o mak — %+ 0 £Ne| L4 - He ' | %0 YeYerS = ™ < ™M
1=m™3a°/ ==¢ - 2 = | %N s ™Mgq =g A0 Y
o % do™s 3 -—%|™kes — % Vi34°
ket defi— 415 v 4 =43 ke 25
3MeAket dofi— L =,3 <feo
ofi ki | 1995 #A° | 754/2861 = 26.354% (45.1+ 6.5) 379/24.674% (44.7+
BAH< o[ =™gA° 21— < ={<¢ Yo EWBO™ F— FAKE ™ -~ <3A
Y8 6 <™Mes< ¢ okes
18 5415.5 4.8+ 0.7 51.4+ 4.5
9 15859.5 4.8+ 0.5 49.6+ 6.1
27 9673.5 9.2+ 1.9 51.5+ 4.4
16 29909.5 8.5+ 2.4 50.8+ 5.9
29 12562.5 12.7+ 3.7 51.9+ 4.5
31 41322.5 11.1+ 4.3 52.8+ 5.5
5

IR =27/21275 =126.910 IR+ =18/5415.5 = 332.379 IR- = 9/15859.5 = 56.748
IR+/IR - = 332.379/56.748 = 5.857 Cl = exp (+ 1.96 x | (1/18 + 1/9)) = 2.2259/0.44925



2.631< IR5= 5.857 <13.037

10

IR = 108.632 IR+ = 27/9673.5 = 279.113 IR - = 16/29909.5 = 53.495

IRH/IR - = 279.113/53.495 = 5.2176 Cl = 5.2176 *exp (+ 1.96 x | (1/27 + 1/16)) =9.6833/2.811
2.811< IR10 = 5.2176 < 9.6833

15

IR = 111.348 IR+ = 29/12562.5 = 230.846 IR - = 75.017

IR+/IR - = 230.846/75.017 = 3.077 Cl = 3.077 * exp (+ 1.96 x | (1/29 + 1/31)) =5.1054/1.8544
1.8544 < IR15 = 3.077 < 5.1054
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